B _Ex.@m ~20(A)
1 Commest. N

—

I U '
193 he = IDXGO =000 run

_b) QMG@mmbm@
, |

| hee = 60 min
. Qhe=-9%60+h6 . .
- L0 +5¢ :BQGM@ N
0) D6 poim ke Se0 R
| o =00 See | /__-,_:

W run=06XGO =260 sec




| @A —
“dm_mm 2% Sec inde Sepemobz__.“‘ o
;A_\_[:\;t;\# 6@ SQ,C)@W\OL\/ . “*:\\
\\Jlrﬁm 12X60 = 720’\'6@ -
I TI80eec ]
e) 5 daa:?nm heurs. i
| day, =4 hyos -
Ddaun=DX24 -
T/ ToY P
| d%:% h
d¥, Qhr =12X0449
d =9%%+9
=097 how.
| o —




- %uw'uj 9 m&nﬂm GO +9
/ ‘ : —-Gq rne'nﬂm

1[&2&(1? ‘701,041» ] ’ “' '
Qwoopu q)(7 "@?)OLOLM,

g\ [:).Cueoﬁ% [Bd,ou» lni‘@ Oo.nuu

| Coedk = —7OLO.LAL "
17 gk, =10X7% 24
12 ook 15@m ,8g+\5




) ek indo hows

“\\\\

-

—

————

_ Heerk= 1 d@.ﬁa& 1 I \\
S T
o m:‘f@ —

49 Sy, =Lax2L
3211716 m

| ool =71 day \
19 weoks: DX P=84 dmot
| | doug :QA%ZM .
o EL d%g,’: X24
£) Qam,m lOrrmﬂ}m’ , ] 'lni'@f’m{xm‘

Q%m—oxz =94 merdly

.Q%jmﬂ_AJOmﬂg L4410

['f “34 menthe M’d//




| e =00 parmmSec
440 = [440X60
- %@QQO 'Spp

J:) Bus@k} nte secenda | |

| Loeek = 1oy,
e 5X7@°)5dmm
%oﬂw 35><24 B40 heww

_

[mm =0 sec.

Mm - SO0 XG0
-202400sec

l

—




Irmm O sec

%GAOOM—%m
=" 34000 sec

e

| __//
- T
I | Bt
[
( /
I — —— ———
- 4
I
| -
-——/"’T*'/
/
o




Cal %Qm_mi@_m\vmmgmdmﬁ»&#
’ | |3
Eﬂl&ac 21260 OO[ 31
- ~13JYWn X)) sec - O )
o c 910
i w | %08

Lyl
rw)ﬁ%lmm&&g@_mt&_—_

ISP cm a0 &0 qzq

4

. 200
KL
\> 105 howwn infe d,oué and heurw ;

| 105 heux, 05 —24 24110S
N daﬁéQm 9%_

+————

\\

l |




] 7&‘5 hews = 14524

= Q)\ Ol/c;ﬁa 1 b

_©) 1024 mrivnudes nde hown amd misut,

|7
1024 raunudes =1004 =GO GOIO4
- 7W5mm

| 404

N ' ’L
' | e ) i 4 > ﬁO




I (x')_i \; /,;’./'
_BJ*C&QM&_—
,,_Q>j 2 dmda inde wooky amd C‘O—Ué -

ey T

BEH dw (365 ~"1) 11265
"62 Luepg&)y ldau %J




" : P |

Qm—C)
d\ %G men@u» inde bc@om Q/Y\D'”W\&U’m\

) dass = (BD--20) 24|
U _ ] hwrfiom ]dam 0L ey

I
B
: 'F\) T%Zj dom lﬂi’@ m/s'r\ﬂl\)x OMO\ dam

206
184 olam :("I%A —20) CbO 1%4
%5
( 190
R =18




~-u>_u@»_mi@oom“ ke rrimadn

|G heww = 1GX60
o ”Q(BO M tQA
. 00 Secondy = @@73 (D runude s

’I’

QRO +10 mumrudoy = Q710 m'mmL '
b) thmwcw@>%mmau”ﬁ@rmmjn

A herr = OXGO .
| - 6[10 mmmf@
ﬁﬁw_;@_m___

PLO 6 prvrudes = B46 minudes




- Ockyp = QX%
190 mimudos = %g =71 heuwn

7

l





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

